12”0319 (K12n0319)

Linearized knot diagam

/< )\ R

§ 11 2 4 11 12 1 6 4 9

Y/ Solving Sequence

4,6 > 712»11a8%9ﬁ3%2ﬁ1%5%10%647097012
A knot diagranﬂ ¢r g €3 C2 €1 C5  Ci0

Ideals for irreducible component#ﬂ)f Xpar

I = (2.38952 x 10%3u3! — 2.15372 x 10930 4 - - + 2.56436 x 10%°b — 7.20111 x 10%,
—8.99453 x 10%*u3! + 7.55251 x 10”4 4 - -+ + 1.28218 x 10%a + 7.93300 x 10,
32 _8ult 4+ - — 300u — 25)
IY = (—255uM — 694u'® + .- 4+ b — 720, —583u!t — 1385u!® + ... + a — 850,
u'? 4 3utt — ul® — 7u® + 1968 + 99u” + 234uS + 343u’ 4 314ut + 17903 + 62u® + 12u + 1)

* 2 irreducible components of dim¢ = 0, with total 44 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (2.39 x 10%%4®" — 2.15 x 10°*4®° + -+ 4 2.56 x 10°°b — 7.20 x
10%%, —8.99 x 10%4u3! + 7.55 x 1095430 4 ... + 1.28 x 10%a + 7.93 x
109, 43?2 — 8u3! + ... — 300u — 25)

(i) Arc colorings

e ()

= (o)
- ( )
0.0701502u3' — 0.589036u3° + - - - — 53.1722u — 6.18711
—0.00931818u3! + 0.0839867u30 + - - - + 19.4660u + 2.80815
0.0701502u3' — 0.589036u3° + - - - — 53.1722u — 6.18711
0.00428886u3! — 0.0294728u3° + - - - + 12.8694u + 2.11228
0.139715u3! — 1.09759u3° + - .. — 162.772u — 15.3667
as = \ —0.0410233u3! + 0.326903u3° + - - - + 50.9224u + 5.87488
—0.114284u3" 4+ 0.997908u3° + - - - — 72.2217u — 7.58056
a9 = \0.0357130u3! — 0.298486u30 + - - - — 4.59855u + 0.151481
0.00605923u3' — 0.0127608u%0 + - .- — 57.1169u — 6.41631
a3 = \0.00341044u3! — 0.0414358u30 + - - - + 35.9729u + 4.57856
0.00946966u31 — 0.0541966u3° + - - - — 21.1440u — 1.83775
az = \0.00341044u3! — 0.0414358u3° + - - - + 35.9729u + 4.57856
0.102606u>3! — 0.898043u3° + - - - + 90.8067w + 10.9018
a1 = \ —0.0317497u3' + 0.264273u3° + - - - + 7.01197u + 0.281882
0.031401743' — 0.300910u3° + - - - + 57.4657u + 7.12226
as = \ —0.00733120u3' + 0.0774930u3° + - - - — 38.6716u — 4.73528

0.0658613u3' — 0.559563u3° + - - - — 66.0416w — 8.29939
a10 = \ 0.00428886u3! — 0.0294728u30 + - - - + 12.8694u + 2.11228

(ii) Obstruction class = —1

(iii) Cusp Shapes = 0.253355u3 — 2.01113u3? + - - - — 403.608u — 50.8053



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! w3 27 o 4 673u + 1

C2,C5 w4 udt 4+ —23u+1
€3 u3? 20 o — 420 — 19

C4,C11 W 4 10u—1
Co u3? — 8ut - — 300u — 25
cr u3? = 3ut -+ 1686w + 41

cg, Cy, C12 w2+ 33+ 4+ 15u— 29

C10 u?? + 3uP + -+ — 37856u — 9991




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 y32 — 3593 ... — 466213y + 1

¢, Cs Y2 =27y + - — 673y + 1
€3 y32 — 63t + .. — 2866y + 361

C4,C11 Y32 45yt o — 158y + 1
Co y*? — 82y + - 4 6850y + 625
cr y*? + 61351 + .. — 2599876y + 1681

Cs, Co, C12 Y32 — 4313 + ... — 24875y + 841

c10 132 4+ 69y + - - — 909927994y + 99820081




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.197289 4 0.7907421
a = —1.185250 + 0.6780561
b= 0.453864 — 0.3969211

—1.17179 — 1.022051

—9.29559 — 0.446781

u = —0.197289 — 0.7907421
a = —1.185250 — 0.6780561
b= 0.453864 + 0.3969211

—1.17179 4 1.022051

—9.29559 + 0.446781

u = —0.299086 + 1.1507901
a= 0.0080471 4 0.09612971
b= 0.628217 + 0.0600851

2.11287 4 2.530911

5.79491 — 0.475821

u = —0.299086 — 1.1507901
a= 0.0080471 — 0.09612971

2.11287 — 2.530911

5.79491 + 0.475821

b= 0.628217 — 0.0600851
u = 0.192167 4 0.7759491
= 1.404300 — 0.0819661 | —6.40829 + 3.076931 | —7.10952 — 3.470951
b= 10.364013 — 1.0541301
u = 0.192167 — 0.7759491
a= 1.404300 + 0.0819661 | —6.40829 — 3.076931 | —7.10952 + 3.470951
b= 0.364013 4 1.0541301
u = —1.20877
a=—0.173934 —6.85965 —17.0320
b= —2.03957
u = —0.727605
a= 1.88288 —7.46881 —13.7170
b= —0.166504
u = —0.650840
a = —0.792502 —1.50430 —6.06880
b= —0.0256764

u = —0.303065 + 0.4882801
a = —1.67068 + 0.647511
b= —1.052950 — 0.4825811

—1.17553 4 2.300171

—10.81580 — 3.724521




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.303065 — 0.4882801

a = —1.67068 — 0.647511 —1.17553 — 2.300171 | —10.81580 + 3.724521
b= —1.052950 + 0.4825811

u= 0.350721

a= 1.62466 —2.83439 1.03330

b= —0.817925

u = —0.089144 + 0.3384951
a = —2.77884 4 3.132571
b= —0.124470 — 1.0641901

—11.30980 + 7.230641

—10.49848 — 5.564901

u = —0.089144 — 0.3384951
a = —2.77884 — 3.132571
b= —0.124470 + 1.0641901

—11.30980 — 7.230641

—10.49848 4 5.564901

u = —0.084309 + 0.2716161
a = —1.52532 4 1.437421
b= —0.027514 + 0.4875011

—0.193873 + 1.0351601

—3.30197 — 6.611051

u = —0.084309 — 0.2716161
a = —1.52532 — 1.437421
b= —-0.027514 — 0.4875011

—0.193873 — 1.0351601

—3.30197 + 6.611051

u = —0.263547 + 0.1010091
a = —0.39229 — 3.093751
b= —0.088766 + 1.3205201

—3.69901 + 3.154021

—10.25267 — 6.170851

u = —0.263547 — 0.1010091
a = —0.39229 4 3.093751
b= —0.088766 — 1.3205201

—3.69901 — 3.154021

—10.25267 4 6.170851

u = —0.09080 + 2.118461
a= 0.508788 —0.0946741
b= 1.05942 + 1.082651

—10.49350 + 1.267691

u = —0.09080 — 2.118461
a= 0.508788 + 0.0946741
b= 1.05942 — 1.082651

—10.49350 — 1.267691




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

2.12482 + 0.019261
0.001205 + 0.8684701
—0.29154 — 1.724811

—12.56270 — 0.836371

2.12482 — 0.019261
0.001205 — 0.8684701
—0.29154 4 1.724811

—12.56270 4 0.836371

= —2.36872 + 0.164381

0.084723 — 0.6697881
—0.11322 4 2.109611

—7.72510 — 2.296151

—2.36872 — 0.164381
0.084723 + 0.6697881
—0.11322 — 2.109611

—7.72510 4 2.296151

2.59941 + 0.202481
—0.035870 — 0.6797341
0.71473 4 2.131191

18.4946 — 2.16351

2.59941 — 0.202481
—0.035870 + 0.6797341
0.71473 — 2.131191

18.4946 + 2.16351

—2.80747 4 0.157411
0.002410 — 0.6278951
0.69377 + 2.390731

—16.6434 + 4.89811

—2.80747 — 0.157411
0.002410 + 0.6278951
0.69377 — 2.390731

—16.6434 — 4.89811

3.02521 + 0.408071
0.006648 + 0.5942661
0.55522 — 2.492691

17.8060 — 11.59901

> Q@ €|l Q& €| & €| & €| Q& | & 8| & 8|l & 8|l & 8| & g
|

3.02521 — 0.408071
0.006648 — 0.5942661
0.55522 4 2.492691

17.8060 + 11.59901




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

3.68008 + 0.584511
0.101580 + 0.4278711
0.25407 — 2.773441

—11.97980 4+ 5.225121

3.68008 — 0.584511
0.101580 — 0.4278711
0.25407 4 2.773441

—11.97980 — 5.225121




II. 1} = (—255u'! — 694u'® + ... + b — 720, —583u'! — 1385u'® + ...
850, u'? + 3u'l + ... +12u + 1)

(i) Arc colorings

= (0
)
)

583ult + 138540 + - - - 4+ 9095w + 850
255ut 4+ 694u'0 + - - . 4 6836u + 720

ag =

583ult + 1385u!% + - .. 4 9095u + 850
465utt + 12116 + - - - + 10621u + 1084

—12ut — 34410 + ... — 515u — 70
ag = \ —256u!!t — 640u'® + - - - — 5120u — 513
4290 + 114100 + - - - 4+ 10869w + 1129
utt + 10w 4+ - - + 3320 + 47

47u11 — 140u'® + - -+ — 1937u — 232
H—_3ul?+ . —62u—11

48u11 — 143019 + .. — 1999y — 243
ult —3ut0 + .. —62u — 11

382u! + 1008w + - - - 4 9202u + 932)

ag =
az =
a9 =

ap = 48utt + 135ut0 + -+ + 1679u + 197

—195u! — 53840 + ... — 6031w — 673
—10u' — 29010 + ... — 441u — 59

118u' + 17460 + - .. — 15260 — 234
a10 = \ 465u't + 12110 + - - - + 10621u + 1084

as =

(ii) Obstruction class =1

+a—

(iii) Cusp Shapes = —557u!! — 150440 + 10494 + 3665u® — 11818u” — 51768u’ —

113824u° — 153844u* — 122639u3 — 56077u? — 13659u — 1383



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 w2 -8t —1lu+1

C2 w2 — 400 4w + 8u® — 3u” — 1108 + 4u® + 10u* — 4w —5u? +u+1
€3 u? +u 300+ 20 4w — " =208 — 5 2t — 20+ 20— 1
C4 u'? + 8u'® + 23u® — u” 4 2608 — 5u’ + 5ut — Tud — 6u? — 2u—1

Cs w2 — 4ut0 — 0 + 8uB + 3u” — 118 — 4w’ + 10u* + 40 — 5u? —u+ 1
Co w43t 120+ 1

cr w2+ 400 —8u+1
cg, Cy u +dutt o —u 41

C10 u +dutt o —2u 41

c11 u? + 8u'® + 23ud + u” + 26w’ + 5u° + 5ut + Tud — 6uZ +2u—1

C12 u? —dutt w1

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 y12 12510 4. 15y 41
C2,Cs y? =8yt 11y 41
€3 y'? + 5yt + 7yt + Ty® + 35y7 + 1695 — 39y° — 26y* + 8y — 4y + 1
¢4, €11 y2 16yt 4+ 48y +1
Co Y2 11y e =20y 4+ 1
cr Y12 48yl 422y + 1
€8, C9, C12 y'? — 16yt 4+ 23y + 1
c10 YAyt 20y + 1

11



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u = —0.614910
a = —0.756088 —3.38826 —14.4840
b= 10.764925

u = —0.215601 4 1.3814107
a= 0.288748 — 0.1061471
b= 0.283384 + 0.0924141

1.69154 + 2.706311

—11.02847 — 6.502381

u = —0.215601 — 1.3814101
a= 0.288748 + 0.1061471
b= 0.283384 — 0.0924141

1.69154 — 2.706311

—11.02847 4 6.502381

u = —0.484089 4 0.1235011
a= 0.24097 — 1.987281
b= —0.879338 + 0.4810431

—0.12267 — 1.980131

—3.12844 + 2.860061

u = —0.484089 — 0.1235011
0.24097 + 1.987281
b= —0.879338 — 0.4810431

a =

—0.12267 4 1.980131

—3.12844 — 2.860061

u = —0.445198 4 0.1985921
a = —1.35255 + 2.905261
b= 10.766353 — 0.4738641

—5.28947 — 3.099041

—8.62038 + 2.821231

u = —0.445198 — 0.1985921
a = —1.35255 — 2.905261

—5.28947 4+ 3.099041

—8.62038 — 2.821231

b= 10.766353 + 0.4738641

u = —0.438663

a= 176179 —6.05655 —5.50250
b= 1.21224

u = —2.04805 + 0.646431
a = —0.276703 + 0.6524091
b= —0.25152 — 2.077061

—9.00537 — 2.270311

—12.11846 + 2.132011

u = —2.04805 — 0.646431
a = —0.276703 — 0.6524091
b= —0.25152 + 2.077061

—9.00537 4-2.270311

—12.11846 — 2.132011

12



Solutions to I3

V=1(vol + y=1C)

Cusp shape

u= 221973 + 1.416041
a = —0.403311 — 0.4702371
b= —0.90746 + 1.605071

—12.16040 4 3.876331

—12.61114 — 1.478311

u= 221973 — 1.416041
a = —0.403311 4 0.4702371
b= —0.90746 — 1.605071

—12.16040 — 3.876331

—12.61114 4 1.478311

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1 (u'? = 8ut + - — 1w+ 1) (u®* + 276 4 - 4+ 673u + 1)

o (u'? — 40" +u® + 8u® — 3u” — 110’ + 4u® + 10u* — 4u® — 5u® +u + 1)
(WPt = 23u 1)

c3 (u'? +u + 30 4+ 200 +u® —u” — 20 — B’ + 2ut — 20 4 20 — 1)
(WP 4 20t - — 420 — 19)

4 (u'? + 8u'® + 23u® — u” + 26u® — 5u® + 5ut — Tud — 6u? — 2u — 1)
(WP =P 10u - 1)

cs (u'? — 4u'® — u® + 8u® 4 3u” — 110’ — 4u® + 10u* + 4u® — 5u? —u + 1)
(WPt = 23u 1)

C6 (u'? + 3u + - 120+ 1) (u®? — 8uB! + -+ — 300u — 25)

cr (u'? +4u' + - = 8u+ 1) (u? — 3u3! 4 -+ + 1686u + 41)

Cg, Co (u'? +4u™ + - — w4+ 1) (WP + 363 - 4 15u — 29)

c10 (u'? + dut + - = 2u + 1) (u? + 3P + - — 378560 — 9991)

1 (u'? + 8u'® + 23u® + u” + 26u’ + 5u® + 5ut 4 Tud — 6u? + 2u — 1)
(=P 4+ 10u - 1)

C12 (u'? — 4wt + - w4 1) 4+ 363 4 4 15u — 29)

14



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

@ (y'2 — 1240 4+ - — 15y + 1) (y*% — 355> + - - — 466213y + 1)

€2, C5 (Y2 =8y + - — 1y + 1) (52 — 279 + - — 673y + 1)
cs (y"% + 5y + 7y + 7y® + 3597 + 16y° — 3995 — 26yt 4 8y® — 4y + 1)

(y* —6y* + - — 2866y + 361)

C4,c11 (Y2 + 16y + -+ 8y + 1)(y32 + 453 4+ - — 158y + 1)
C6 (y*2 — 11y" + - = 20y 4+ 1) (%% — 82y% + - - - + 6850y + 625)
cr (y'? + 8y + -+ — 22y + 1)(y** + 61y°" + -+ — 2599876y + 1681)

cs, Co, C12 (y'? — 16y + - 4+ 23y + 1) (y%2 — 4353 + - - - — 24875y + 841)
12 11

10 (y"? + 4yt + - =20y + 1)

(y*% + 69y% + - — 909927994y + 99820081)
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